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SCETION-(A)

JEIfTS U —

Multiple Choice Question —

7% 1 — frafaRed ueEl § SR &1 98 e 999 o) SaRyRasT 7 ford —

(i) Rie sifaarss & T8 &9 TR 98 Uil 8 9al 8 1 $9 Whd H S (1)
e T § —
(37) emg e qIy (3) 3rgEa |y
(4) o1g <A1 ]I (]) fcar aN
On healing Zinc Oxide turns yellow. The crystalline defect arises in the process is -
(A) Metal excess defect (B) Impurity defect

(C) Metal deficiency defect (D) Schottky defect

(i) SfATES IRDBT BT TIE B— (1)
(31) difarse, RreRise (@) dreITSCe, gUTSe

(¥) THeRe, RevEe (]) THCTSCS, BIUR UTgI8C

The group of oxide ores is -

(A) Bauxite, Siderite (B) Bauxite, Cuprite
(C) Haematite, Siderite (D) Haematite, Copper pyrites
(i)  [Ni(CO),] H Ni BT IMTRIBROT e & — (1)
@) o @) +1
(@) +2 (@) +4
The Oxidation state of Niin [Ni (CO).] is -
(A) O (B) +1
(C) +2 (D) +4
(iv) CH,=CH-CI¥ Tallo 9§ IS PIE Bl HHIUT eI 5— (1)
(37) sp @) sp
(%) sp’ (@) dsp?
The hybridization state of the carbon attached to the halogen in CH, =CH —Cl is -
(A) sp (B) sp’
(C) sp’ (D) dsp?
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@eyus
(v) N*-CI Br
Cu,Br, /HBr
- +N, + HCl
A
U AU & RIH TR B &1 o IR SURIGT AMTHAT BT AH BT — (1)
(ar) vsHER s (@) e~ ifafpar

() wied Hued fAfhar  (]) S rfafmar
N*,-Cl" Br

CuyBr,/HBr
B + N, + HCl
A

The name of above reaction on taking copper metal instead of cuprous salt, will be -
(A) Sandmeyer’s reaction (B) Gattermann’s reaction
(C) Friedel reaction (D) Ullmann reaction

(vi) BT DI AT HNO; TAT AT H,S0, & MAsTor § A W Ui & I1e - (1)

HT A BT —
(@1) 2—-TSgrm AT (@) 4—ATSEIHHATA
(d) 2,4— S8 ASSBHIA (@) 2,46— TT3 ARSIBIATA
Name of major product on mixing phenol in mixture of conc. HNO3z and conc. H,SO,, will be-
(A) 2-nitrophenol (B) 4-nitrophenol
(C) 2,4-di nitrophenol (D) 2,4,6-tri nitrophenol
(i) VoSN Al AHIISS & — (1)
(@) v () waer
(%) TegreT () gt
Aldohexose mono-saccharide is -
(A) Ramnose (B) Fructose
(C) Glucose (D) Sucrose
(viii) ST # faery faerf®= & — (1)
(@) faer™= g @) faer = &
(@) RrerfE <@ (€) R &
Water soluble vitamin is -
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D

(ix) TS TN V=i & AT & 9 i # Uergs el & wr grfi— (1)
(@1) 1 @) 2
(9) 3 () 4
The number of peptide bonds in the compound formed by the combination of glycine and
alanine will be -
(A)1 (B) 2
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The Learning App

v 2 Raa w19 @1 gfif siforg —
Fill in the blanks -
(i) THCISC & WTAT TG oo Tl BT SYANT B ¢ | (1)

..................................... furnace is used for the smelting of haematite .

(i) PR TART BT ARD FH oo 2 (1)

The Chemical formula of Copper glance is ......cccccevvevenee.
(ili) OIS BT AT STARATDBROT TART .o = (1)

The general oxidation state of Lanthanoids is .........ccccevevvvevennnen.

(iv) [Co (en)s]*" FaHel H Co B IUATHANSTT T <.ooooee = (1)
The coordination number of Co in complex [Co (en)s]** is ...ccvvvreeereane.

Ue 3 AR I3 —

(i) dbd TAT TichH! M YBR & QMY S drel 31 BT Q™IS G Ry | (1)
Write the chemical formula of the solid showing both Frenkel and Schottky defects .

(i) & e ey | (1)
Write Henry’s Law.

(i) S faer # REs ofd & fgaad @ oy STRerT eaw &1 9™ falRay| (1)

Write the name of bond responsible for dimerisation of ethanoic acid in benzene solution .

(iv) FeO+Si0, —» [A]
SwRIad fAfhar # e [A] &1 RS g3 oy | (1)

Write the chemical formula of compound [ A ] in the above reaction .

(v) <FATTS @@ BT BRI FHASISY | (1)
Explain the reason for Lanthanoid contraction.

(vi) TIATS BT 413K TM0 R A H,50, & AT TH PR WR UG & IR (1)
BT A g3 g |

Write the chemical formula of the main product obtained when ethanol is heated with

concentrated H,SO, at 413 K.

(vii) UTelF & STSUSHHRYT BT INIAfh FHIHRYT fIRay | (1)
Write the chemical equation for the diazotisation of aniline .
(viii) CTSHRIGYHN &1 Berd =3 9918y | (1)
Draw the orbital diagram of Trimethylamine .
gvs — (§)

SCETION-(B)
ARSI
4., Tcd B & URHTISI A hep SITeieh 9T & AR T A & URHAY 1/3 TIHAD (1%)
RIFTET BT 4R €1 A R B T gy’ 311770 BT L T 8 ?
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@BYJUs Atoms of element B form hcp lattice and those of the element A occupy 1/3™ of tetrahedral
voids. What is the formula of the compound formed by the element Aand B ?

5. 3gdehed AT WIg Fddbed Bl oAl DT | (1%)

Compare paramagnetism and ferromagnetism .

6. UM URTERYT UehH &1 NG FReyvl =3 STy | (1%%)

Draw a diagrammatic representation of the process of Reverse Osmosis .

7. HfaRad @ MR WR e [Aaas & FHssy— Ch+%=1%)
(@) Tl uRads (@) My gRad

Explain the ideal solution on the basis of following points —
(A) Change in enthalpy  (B) Change in Volume

8. CH;COOCHs+H,0  H' CH3COOH + C,HsOH
>
SRIFT JAfhar &1 AfAfHaT BIfe &1 719 1 Safd nfdadmdr &1 749 2 89 (1%2)

Dl DRI FHATZU |
CH3COOC;Hs + H,0 H* CH;COOH + C,Hs0OH
—

Explain the reason for the value of order of reaction is 1. Write the value of molecularity

is 2 in above reaction .

9. TUsY & UM dife @ ifafshar & 99.9% sifafshar qof 89 # v wwa (1%2)
3R (t5) BT 10 AT BIaT 7 |

Show that in a first order reaction, time required for completion of 99.9% is 10 times of
half-life (t'2) of the reaction .

10. HepHUT Al g1 UeRia FfaRad qon &1 |aHsmsy— a+¥%=1%)
(37) TRTcIRT SHTRABROT 7= () SR T
Explain the following properties exhibiting by transition elements -
(A) Variable oxidation state (B) Catalytic property

11. URAY] $HHIH 26 el U dcd M @ (g8 I & oIy “"U=shor A (1%%)

FREDIY ATV BT IO DITY |

Calculate the “Spin only” magnetic moment for bi-positive ion of an element M having
atomic number 26 .

12. 70 37 Pl T Y PEMTA TS BT BEIT ARG I915Y | (1%%)

Draw the orbital diagram of carbonyl group showing the T bond .

13. CH;0OH [O] [A] CH Mgl [B] H20 [C]

W&Fﬁﬁmmﬁmnmmq%wﬁzﬁw%@m (1%%)

CH;0H [O] = [A] CHsMgl [C]
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@BYJUs Write the chemical formulaof [A],[B] and [ C] in above reaction sequence.

14. HCOOH, CHsCOOH, CICH,COOH T 3! TFIdl & dod hH § FaRed BHIfofy |

(17%%)
Arrange HCOOH, CH;COOH, CICH,COOH in ascending order of their acidic strengths .

15, 3MAT TAT WRT Rl IR IR ASET HHE DI Bl 3Tl AT Bl

(1)
geId B HSSy |

Nitro group present at ortho and positions increases the acidic strength of phenol. Explain.

grs — (49)
SCETION-(C)
SIS U

16. JAMfHAT B B BT IRATT BITY | I DIE B AWATHAT B forg
FHIDCTd I FHIBRUT G~ HITTY |

Define order of reaction. Derive integrated rate equation for zero order reaction.

(1+2=3)

AT
OR

JAFHAT & T BT IRYINT HIRTU | MfATHAT & I BT 919 IR H=dr &1
JfhIUT SHofl (Ea) B IMYUR TR FHISU |

Define rate of reaction. Explain temperature dependence of rate of reaction on the basis
of activation energy (Ea) .

(1+2=3)

17. (i) BIET—garo (C-X) Ad B Fahd forRay |
(ii) TSI BT FeCly, B IURARY Cl, & AT MHEHT B W A [X] 7T & |
AT [X] BT YP $2R DI IURAMT F WfSTA & A1y e R AR (V]
gar & | Af® [X] UG [Y] & 74 faRed qen ffta st ifafearet «
BT fTRey |

(1+%a+12+1=3)

(i) Write the nature of Carbon — halogen (C - X) bond .

(ii) Compound [ X ] is obtained on benzene react with Cl, in presence of Fecl; . Compound [ Y ]
is obtained on mixing compound [ X ] with sodium in presence of dry ether . Write the names
of compounds [ X ]and [ Y ] and write equations of chemical reactions involved .

AT
OR

(i) DDT T QX7 19 fofRay |
(ii) TS BT PCls & AT MG BT IR AE [X] I © | D [X]

BT Vodbigell KOH & 1T TH &= WR AIfd [Y] 94T B |

AfH [(x] g [Y] & 7 falRay den fAfea e sifaforamt «

FHIHRoT forflRey | (1+Va+V2+1=3)
(i) Write the full name of DDT.

(ii) Compound [ X ] is obtained on ethanol react with PCls. Compound [ Y ] is obtained

on heating compound [ X ] witw Write the names of compounds [ X ]
.
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@BYus and [ Y ] and write the equations of chemical reactions involved .

18. (i) VT g Rm &Y AT WRamg Ty |
CH,
(i) CHs — CH, — CH, — NH,, CHs — CH — CH; 2T CH; — C— NH, BT & &R ey

NH, CH;
P ggd HH H IR BT |

(i) FETA—1— A B Tt § fAeIdT FA—1—IH & o H fF B
BT IR | (1+1+1=3)

(i) Give resonating structures of anilinium cation .

C[;!g
(ii) Arrange CH;— CH,—CH, — NH,, CH; — CH—CH; and CH;— C— NH,in ascending order of

NH, CH;
their basic strengths .
(iii) Write the reason for solubility of Butan-1-Ol in water is more as compare to Butan-1-Amine .

AT
OR

(i) Ra IWdH® &1 TG A1 ol |- 93 foIfegy |
(i) VA gRT USRI Sifder TiF Affshar &1 Iwiferd Idr-idh
FHIHRT foIlRau |

(iii) CHsNH, @1 &R ATHRY CeHsNH, D1 JoToT H 2AfSd B9 & BRI fRay | (1+1+1=3)

(i) Write the structural formula and chemical name of Hinesburg’s reagent.
(ii) Write the balanced chemical equation of carbyl amine reaction exhibiting by ethanamine.
(iii) Write the reason for basic strength of CH;NH, is more as compare to C¢HsNH, .

gvg — (g)
SCETION-(D)
IGCRC RGN A E |
19. (i) BMRIfCH T Bglellcd Fhat DI TRHINT BT |

(i) [Ti(H,0)s]> T faeras N9 BAT 8 | BIROT <Io1Y |
(i) STHADI fheeel &3 H o o1 T & FHHY d—hedhl & fohecd

&3 faureqd &1 Ri¥a Hifvg | (1+1+1+1=4)

(i) Define Homoleptic and Hetroleptic complexes .

(ii) Solution of [Ti (H,0)s]>" is coloured. Give reasons.

(iii) Draw the crystal field splitting of degenerate d-orbitals of free metal ion in octahedral
crystal field.

[ htios bvius.com I
.
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o (i) [ Co (NHs)s (SO,) 1Br T [ Co (NHs)sBr ]SO0, ERT Uefdid warqadar faRkau ud su
IRV HIRTY |
(ii) [ Co (NHs)s 1 ** URTF®II STadh [ CoFg > ST BIAT & | HRUT QI |
(jii) TIThADIT fohece &3 § qaa o1q T & AAHY d—DHeTdhi & fhved
&= faures &1 faf>a s | (1+1+1+1=4)

(i) Write the type of isomerism exhibited by [ Co (NH5)s5 (SO4) 1Br and [ Co (NH;)sBr ]SO,
and also define it .
(i) [ Co (NH3)s 1 * is diamagnetic while [ CoFe ]* is paramagnetic. Give reasons.
(iii) Draw the crystal field splitting of degenerate d-orbitals of free metal ion in tetrahedral
crystal field.

20. (i) 97T VA 9 U UfesEIge & AW 9 IS 93 forRag |
(i) Fr=faRad wuraRoN &1 Iafee aHERer foRay —
@) I~IF | dTifesegs @) Tcfeserzs ¥ Vs A
(iii) UfeSBIRE & o— BISSIO URHTY Bl ¥ BT HRUT QITOTT | (Vat+ Vot 1+1+1=4)

(i) Write the name and chemical formula of aldehyde obtained from vanilla beans.
(ii) Write the chemical equations for following conversions —
(a) Benzaldehyde from benzene (b) Acetaldoxime from acetaldehyde

(iii) Give reasons for acidity of X - hydrogen atom of aldehyde.

S
OR

(i) ST | Ui UfeSERS &1 M 9 RIS g3 g |

(i) Fr=faRad wur=aRon @) IRafee FHEReT foRay —
(31) I FARTSS | dolfeeess

() T ¥ VIR glgsul
(i) DraTAfCTD 3TFeT BT Faid T 3MMVad TIH drel Vfoeslss &l Jorl
# 31ferep B Bl PRI I | (Vet¥er1+1+1=4)

(i) Write the name and chemical formula of aldehyde obtained from cinnamon.

(ii) Write the chemical equations for following conversions —
(a) Benzaldehyde from benzoyal chloride
(b) Acetone hydrozone from acetone

(iii) Give reasons for boiling point of carboxylic acids is more as compare to aldehydes
of comparable molecular mass .
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